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60N a2 |1 28R | 6320xmEAK A5 A B ot | 3,500 3,800 2 400 2 400 9,770
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A e |4EUER a#bis | 15 800] 17,600] 11,000 11,000
5 |7 # | 8700] 9 700| 6 100/ 6 100
"o 3 & % 16A~ 254 8,500 | 9,400 | 5,900 | 5 900 [+| PBE ) 8 '
20A [T 2mE| |18 30xmEAHK H 180X ISR X AR AM ' : : : ol | 7,600 8 400 5 300 5 300
FT [ 77 I3 dish | 6,800 7.500] 4, 700] 4, 700
7, 3
N e |AEDER a i | 10,900] 12, 200 7.600] 7,600
5 |7 # | 6,000 6 700] 4 200/ 4 200 |. X
"5 S & R 26A~ 36N | | 305 s x A 5900 | 6,500 | 4100 | 4 100 | +| P : SecrLEe
30;\ s |1 2@B[ |13 110X MEAHK Lo OB ' ’ ot | 5200 5 800 3 600 2 ggg B onmeR
S E diesh | 4,700] 5 200] 3 300 3,
7, 3
N e |AEUER i | 9, 800] 10,900 6,800 6,800 ~ 15A
5 |7 3 400 6,000 3 700 3, 700 27,330
n 3 & R 36A~ 450 b | 5 , ) )
00 —r ;%E 10,190 pnE o | | 100 MK X mERA 5,200 | 5,700 | 3,600 | 3,600 v | 4700 5200 330 3800
e | B g 3 dibsh | 4,200 4,600] 2 900 2 900 16A~ 25A
41N | gm |AEMER atbih | 8 800 9 800 6 100 6 100 16,800
5|7 3 800| 5,400 3, 400| 3, 400
n 3 & R 46 A~ 60N bkt | 4, , ) )
50.A 1 ;ﬁazb% 7, 600x mE Ay || /OXMEAEXMEAK 4700 |5, 20011 3,300 3, 300 ot | 4,200 4,700 2 900 2 900 26A~ 35A
e |35 [ B dibsh | 3,800 42000 2 600 2 600 12, 280
N e |AEUER atih | 7,200] 8 100 5 100 5, 100
5 |77 3 00| 4, 400| 2800 2. 800 36A~ 450
) 3 & & 61 A~ 75A . . bt | 4,0 , , )
60A 1. ;ﬁ;zu 6, 110X mEAgy || OO IFEXMEAL 8,900 | 4,300 ) 2,700 2,700 ot | 3,500 3,800 2 400 2 400 9,770
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610 s |4EMUER adhis | 6300 7.100] 4 400] 4 400 46 A~ 6OA
5 | 7 3 00| 3,900 2 400| 2. 400 7,500
) 3 & & 76 A~ 90N . . bl | 3,5 , , )
20 — ;ﬁﬂ 6. 000~ R Aok || 0% MEE X MEAK 3,300 | 3,700 | 2 300 | 2 300 i | 3000 3400 2100 2 100
il D 3 dist | 27000 30000 1,900 1,900 61A~ T75A
I s |4EMUER adhis | 7,100 7,900 4 900] 4 900 6,130
5 |77 3 00| 4,300| 2,700/ 2. 700
) 3 & & 91 A~ 1054 . . bt | 3,9 , , )
80A 1. ;ﬁ;zu 4,370 % mEs Ay | 7| 40X IFEXMEAK 8800 | 42001 2,700 ) 2,700 ot | 3,400 3,800 2 300 2 300 76 A~ 90N
il D 3 dist | 3,0000 3400 2100/ 2100 5, 220
1A s |4EAER atih | 6,300 7,100 4 400] 4, 400
5 |77 3 00| 3,900 2 400| 2. 400 91 A~ 1054
) 3 & & 106 A~ 120A . . bl | 3,5 , , )
90A 1. ;ﬁ;zu 3,820 x mEE Ay || S0 IMHEXMENL 8,400 | 3,700 | 2.400" 2 400 oyt | 3,000 3 400 2100 2100 4,660
e | 5 g 3 dist | 27000 30000 1,900 1,900
6/100 7, 3 N
s [ g e |AEUER adhis | 55000 6200 3 900] 3 900| | 106A~ 120A
5 |77 # | 3,000/ 3 400| 2 100/ 2 100 4,250
) 3 & & 121 A~ 1354 . . 3000 | 3400 | 2100 | 2 100 b i : )
100A [ o1 2mn| | 330xmeag |T| SOREFmEAMK ' ’ : : o | 2,600 2 900| 1,800 1,800
T | B g 3 dish | 24000 2600 1,600/ 1.600[ [ 121 A~ 1354
101A | gm |4BELER atwst | 6,100] 6 800 4 200 4, 200 3,920
5|77 3 0| 3,700 2300 2 300
) 3 & & 136 A~ 150.A 5 . ) bkt | 3,300 3, ) )
T10A i 2ER| | 2 0s0xmEA% | S0 I3 X IEe A 83001 3,700 1 2,300 | 2,30 ot | 2900 3,200] 2000 2000 [ 136A~ 150A
T | B g 3 dihisi | 2,600] 2900[ 1,800 1,800 3,660
A | e |4BELER atwst | 5500] 6 200 3 900] 3, 900
5|77 # | 3,000 3400] 2 100| 2 100| | 151 A~ 180A
) 3 & & 151 A~ 180A 5 . 3400 | 2100 | 2 100 b ity : ,
120 A - |1. 28R 2, 540x MEAK | 20 MBS > MR A MK 8,000 18, ' ' cHbit | 2 600| 2900| 1,800 1,800 3,160
T | B g 3 dihisi | 2,400] 2600[ 1,600 1,600
1210 | 02 |4BHULER atih | 5 100] 5 700 3500 3500 [ 181 A~ 210A
5|77 # | 2,800/ 3 100| 1,900 1,900 2,810
) 3 & & 181 A~ 210A 5 . 5800 | 3100 | 2000 | 2 000 b ity , ,
130A [o 1. 2mR| | 2 180xmiig || Z20XREFEmEAR ' ' ' ' ot | 2,400 2,700| 1,700 1,700
T | B g 3 dish | 22000 2400 15000 1,500 [ 211 A~ 2404
1BIA | 9= |4BELER atwst | 5500] 6 200[ 3 900] 3, 900 2,540
5|77 3 0| 3,400 2100 2 100
) 3 & & 211 A~ 240X 5 . ) bk | 3,000 3, ) )
140A |1, 28R 1o10xmE A | 10> I3 fnEe A 80001 3,300 | 2100 ) 2,10 cHul | 2600| 2 900| 1,800 1,800 241 A~ 270N
) 3 dihis | 2,400] 2.600] 1,600 1,600 2,440
A | e |4BELER athl | 5 400 6 000[ 3 700] 3, 700
5|77 % | 2,900 3,300[ 2000 2000 [ 271 A~ 300A
) 3 & & 241 A~ 2701 s . 2100 | 2000 | 2 000 bkt | 2, : ) ,
1804 o |1 2% 1600 mE g || O MEEMEAK 2800 1 8, ot | 2500 2 800 1,800/ 1,800 2,360
Ll 3 dihis | 2,300] 2.500] 1,600 1,600
15IA | gm |4BELER athl | 4,800] 5 400 3,400 3,400 [ 301 A~
5|77 % | 26000 2900 1,800 1,800 2,150
) 3 & & 271 A~ 3004 s . 5600 | 2900 | 1800 | 1 800 bkt | 2, , . ,
1604 - 1. 28R 1,520 X AR A% T OB E MR ' ' ' ' cHhik | 23000 2500 1,600 1,600
Ll 3 dihisi | 20000 2300] 1,400 1,400
61A | g [ABBER atih | 5 400 6, 000 3 700 3,700 ;:43;%0)%@(:
5|77 % | 29000 3,300 2000 2 000 [#0
no 3 & R 301 A~ s ; 2,800 | 3,100 | 2,000 | 2 000 [+] D) 2 ' : :
170N - 1. 28R 1, 390 X AR A% T OB E MR ' ' cHhik | 25000 2800 1,800 1,800
Ll 3 dihis | 2,300] 2.500] 1,600 1,600
e [4EELER athis | 4800 b 400 3, 400] 3. 400
- 3 600 2,900 1,800 1,800
171A 3 & R b | 2, ) , .
BE L], ;ﬁ*.szu 27001 2,900 1 1,900 | 1,900 cii | 2 300] 2500 1,600 1,600
% = 3 dihis | 20000 2300] 1,400 1,400
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b2 [4BELER 229, 290] (236, 520)] 180, 130] (187,360)|+[ 2 270] (2. 340)] xm&= | 1,780] (1,850)] xmeE= | +[ (7.230)] +[ (oxmeE=)
3 m R 236,520 (295, 710)| 187,360 (246,550)|+| 2 340 (2,830)| x s | 1,850| (2.340)| x gz |+| 7230 + 70X fngE
N e |12 2mR 295, 710| (368, 040)| 246,550| (318,880)|+| 2.830| (3,560)| x &= | 2, 340| (3, 070)| x &=
FT V7 g ) 368, 040 318, 880 +| 3560 xmExE [ 3070 pICES
A b2 [4BELER 124,310] (131,540)| 99,730] (106, 960)|+| 1. 220] (1,290)] x &= 970[ (1, 040) | xm&E= |+[ (7.230)] +[ (FoxmaE®)
" 3 m =R 131,540| (190,730)| 106, 960| (166, 150)[+| 1,290| (1,780)| xfn%s [ 1,040| (1,540)| xpngg= [+]) 7,230] + 70X fnEE
20A e |12 2@R 190, 730| (263, 060)| 166, 150| (238,480)|+| 1.780] (25100 xm&= | 1.540] (2, 270)| x &=
T | °7 [g R 263, 060 238, 480 +| 2510 xmEx | 2270 X MER
21 A gm [4BUER 89,210] (96, 440)| 72,820] (80, 050) | + 870]  (940)] xmE® 700]  (770) xmgx [+[ 7.230)] +|  GoxmE®)|
N YR 96, 440| (155, 630)| 80, 050| (139, 240) | + 940| (1,430)| xmEgE 770[ (1,270)| xmg [+ 7,230 +[  7oxmzmx|
30A e |12 2mR 155, 630| (227, 960)| 139, 240| (211,570)|+| 1. 430] (2. 160)| xm&= | 1, 270] (2 000)| x &=
T | °7 g R 227, 960 211,570 +| 2160 xmgsx | 2000 X g R
3A gm [4BUER 71,860] (79,090)| 59,570 (66, 800) | + 690  (760)] x g 570  (640) | xmgx |+[ (7.230)] +| (GoxmE®)|
NS W 79,090 (138,280)| 66, 800] (125, 990) | + 760] (1,260) | x K 640] (1,130)| xmgk |+| 7.230] +[  70xmgx|
40A e |12 2@R 138,280| (210,610)| 125,990| (198,320)|+| 1.260] (1,990)| xm&= | 1.130| (1, 860)| x &=
T | °7 g R 210, 610 198, 320 +| 1,990 xmgsx | 1,860 X g R
4A gm [4BUER 66,930] (74,160)| 57,100] (64, 330)| + 650] (720)] xmE® 550 (620)] xmgx [+[ (7.230)] +|  (GoxmE®)|
N YR 74,160] (133,350)| 64,330 (123,520) [+ 720 (1,210)| xmEgE 620 (1,110)] xmgs [+ 7,230 +[  70xmzx|
50.A e |12 2mR 133,350| (205, 680)| 123,520] (195,850)|+| 1.210] (1,940)| xm&= | 1.110] (1, 840)| x &=
T | °7 g R 205, 680 195, 850 +| 1,940 xmgsx | 1,840 X g R
514 gm [4BUER 58,530 (65, 760)| 50,340 (57,570)| + 560  (630)| x g 480 (550)| xm#E |+[ (7,230| +[  GoxmazE)|
N YR 65,760 (124,950) 57,670] (116, 760) |+ 630 (1,120)] x pngE® 550] (1,040)| xmg= [+[ 7,230 +|  70x x|
60A e |1 2BE 124,950] (197, 280)| 116,760] (189,000)|-+| 1.120] (1.850)| x gz | 1. 040] (1,770)| x gz
Rl I 7 w| | 197,280 189, 090 +| 1,850 xMEE | 1,770 X NEE
N e |4EELER 52,610] (59, 840)| 45.500] (52, 820)|+ 500]  (6570)] x g 430]  (500) [ x gk | +[ (7,230 +[  (GoxmzH)|
NS 59,840] (119,030)| 52, 820] (112 010)|+ 570] (1,070)| x pngE® 500]  (990)| xmg= [+[ 7.230 +|  70xmEE|
T0A e |1 2BE 119,030] (191,360)| 112, 010] (184, 340)|+| 1. 070] (1, 800)| x ez 990 (1,720)| x gz
Rl I 7 3 191, 360 184, 340 +| 1,800 xmgE®E [ 1,720 X B E
I e |4EELER 48 230] (55, 460)| 42.080] (49,310)|+ 460]  (530)] x g 400]  (470)[ xmgk | +[ (7,230 +[  (GoxmzH)|
s |78 & &’ 56,460 (114,650) 49, 310] (108 500) |+ 530] (1,020)| x pngE® 470 (960)| xmg= [+ 7.230] +|  70xmEE|
80A e |1 2BE 114,650| (186, 980)| 108,500| (180,830)|+| 1. 020] (1,750)| x ma= 960 (1,690)| x gz
Rl I 7 " 186, 980 180, 830 +| 1,750 xmE®E [ 1,690 X &
"IN e |[4EELER 44.770] (52,0000 39.310] (46, 540) | + 420]  (490)] x g 370]  (440) [ xmgk | +[ (7,230 +[  (GoxmzH)|
NS 52,000] (111,190)| 46.540] (105, 730)| + 490]  (990) | x pngEE 440 (930)| xmg= [+[ 7230 +|  70xmEE|
90A e |1 2BE 111,190] (183,520)| 105,730 (178, 060) | + 990] (1,720)| xR 930] (1,660)| x gz
3/100 Rl I 7 " 183, 520 178, 060 +| 1,720 xmE®E [ 1,660 X B E
s [ g e |AEUER 38.890] (46, 120)| 33,970] (41, 200)|+ 360]  (430)] x g 320]  (390)] xm&=E [+[ 7. 280 +[  (GoxmzE=m)|
NS 46,120] (105,310) 41,200] (100, 390) |+ 430]  (930)] x pngEE 300  (880)| xmg® [+[ 7230 +|  70xmEE|
L P ENYY ) 105, 310] (177.640)| 100,390| (172, 720) |+ 930] (1,660)| x gz 880 (1,610)| xmEx
Rl I w| 177,640 172,720 +[ 1,660 xmEE | 1,610 X EE
1018 | g [4BUER 36,950] (44,180)| 32,480 (39,710) |+ 360]  (420)] x mEE 300]  (@70)] xm&E [+[ 7. 230)] +[  (Goxmzx)|
w5 |73 B & 44,180] (103,370)| 39, 710] (98 900) | -+ 420 (910)] xmE=E 370 860)| xmaE& |+ 7,230 +[  70xmzmx|
R P ENFY ) 103,370] (175, 700)| 98, 900| (171, 230)|+ 910] (1,640) | x gz 860| (1,590)| x mEx
Rl I w| [ 175700 171, 230 + 1,640 X mEE | 1,590 X EE
MA | gm [4BUER 35,290 (42,5200 31,190] (38, 420) |+ 330]  (400)] x mEE 290 (360)| xm&E |+[ 7. 230)] +[  (Goxmzm)|
w5 |73 B & 42,620] (101, 710)| 38 420] (97,610)|+ 400]  (890)| x &= 360]  (850)| xma& |+ 7,230 +[  7oxmzmx|
1200 [T 2mR 101,710] (174,040)|  97.610] (169, 940) |+ 890| (1,620)| x gz 850| (1,580)| xmE®
Rl I w| 174,040 169, 940 +[ 1620 X mEE | 1,580 X EE
1218 | gm [4EULR 33,890 (41,1200 30,110] (37,340) |+ 310]  (380)] xmggxk 280]  (360) xm&E [+[ 7. 230)] +[  (Goxmzm)|
w5 |73 B & 41,120] (100, 310)| 37,340] (96, 530) |+ 380] (880)| xmE®E 350]  (840)| x & |+ 7,230 +[ 7oxmzmx|
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3 % R 231,440| (289, 320)| 183, 400 +| 2,290] 2, 770)] xmzx= [ 1,810] (2290)| x gz |+[ 7,040 + 70X MEE
10A 1. 2/R 289, 320| (359, 780) | 241, 280 +| 2,770 (3,470)| xmE= | 2,290] (2, 990)| x gk
FT EN [ 359, 780 311, 740 +|[ 3470 X xR 2,990 RS
A 4L R 121,640] (128,680)| 97, 630 +[ 1,190] (1, 260) [ x mEE 950] (1,020)] xm&E= |[+[ 7.040)] +[ Goxm#Ex)
e 3 % R 128,680| (186,560)| 104, 670 +| 1,260 (1,750)| xmm* | 1,020 (1,510)| xmmx |+[ 7,040 + 70X I E
208 1. 28R 186,560| (257, 020) [ 162, 550 +| 1.750] (2, 450)| xmEE | 1,510] (2 210)] xmEx
FT 7, [ 257, 020 233,010 +| 2450 X IR 2,210 X NS E
21 A 4mUER 87,290 (94,330 71,280 + 850]  (920)] xpnEEE 690 (760)[ xmEx [+[ (7.040)] +|  GoxmE®)|
S 3 % R 94,330 (152,210)| 78,320 + 920 (1,400)| x mE=x 760] (1,240)| xmg= [+[ 7.040] +|  70xmEE|
30A 1. 28R 152, 210] (222, 670)| 136, 200 +| 1,400] (2 1000 xmEE | 1,240 (1,940)| x
FT 7, [ 222,670 206, 660 +[ 2100 X IR 1, 940 RS
31A 4mUER 70,280 (77,320)| 58,270 + 680] (750)| xpngE 560  (630) xmEx [+[ (7.040)] +|  GoxmE®)|
S 3 % R 77,320 (135,200)| 65, 310 + 750] (1,230)| x mE® 630] (1,110)| xmg= [+[ 7.040] +|  70x x|
40N 1. 28R 135,200] (205, 660)| 123,190 +| 1,230 (1,930) | xm&EE | 1, 110] (1,810)] xmEx
T 7, [ 205, 660 193, 650 +[ 1,930 X IR 1,810 X s &
4A 4mUER 65,430 (72, 470) 55,830 + 630] (700)] x g 530  (600) xmEx [+[ (7.040)] +| GoxmE®)|
S 3 & R 72,470] (130, 350)| 62,870 + 700] (1,180)| x = 600] (1,000)| xmg= [+[ 7.040] +|  70xmEE|
50A 1. 28R 130, 350[ (200,810 [ 120, 750 +| 1.180] (1,880)| xma&E=E | 1,000] (1,790)] xmEk
FT 7, [ 200, 810 191, 210 +[ 1,880 X IR 1,790 RS
514 4mUER 57,230 (64,270)[ 49,220 + 550]  (620)] x 470]  (540) | xmgx [+[ 7.040)] +|  GoxmE®)|
" 3 ® R 64,270] (122,150)| 56, 260 + 620] (1,100)| x mE=® 540] (1,020 xmg= [+ 7.040] +|  70x x|
60N 1. 2®E 122,150] (192, 610)| 114,140 +| 1.100] (1,800)] gk [ 1,020] (1,720)] xmgsk
=T D I3 192, 610 184, 600 +[ 1,800 xmgx | 1,720 X MEE
610 4R 51,440] (58, 480)| 44,580 + 490 (560) | x mngEE 420]  (400) | xmgx [+[ 7.040)] +]  GoxmE)]
" 3 ® R 58, 480] (116,360)[ 51, 620 + 560 (1,040)| x mE=® 490]  (970)| xmg= [+[ 7.040] +|  70x x|
N 1. 2®E 116,360| (186,820)| 109, 500 +[ 1,040 (1,740) [ x mEE 970] (1,670)| x mEx
=T D I3 186, 820 179, 960 +[ 1,740 xmgx | 1,670 X MEE
A 4R 47,150]  (54,190)| 41,150 + 450 (520) | x mnEE 390]  (460) | xmgx [+[ 7.040)] +]  GoxmE)]
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ey 3 ® R 45,110] (102, 990)| 40,300 + 430 (910)| xmE=R 380 (860)| xmg® [+[ 7040 +|  70x x|
T00A 1. 2&®E 102,990| (173, 450) [ 98,180 + 910| (1,610)| xmE=x 860] (1,560)| x mE=x
=T D I3 173, 450 168, 640 +[ 1,610 xmgx | 1,560 X g
1014 AmUER 36,160] (43,200)| 31,800 + 340]  (#10)] xmEx 290 (360)| xm&E |+[ 7 040)] +[  Goxmzx)|
i 3 B R 43,200] (101,080) [ 38 840 + 410]  (890)| xpnE= 360 (850)| xmE=® [+[ 7 040] +| 70X MEE|
T10A 1. 2&mR 101,080| (171,540)| 96, 720 + 890 (1,590)| x mEx 850 (1,550)| x g
=T g, I3 171, 540 167, 180 +[ 1,590 xmgx | 1,550 X g
A AmUER 34,540]  (41,580)| 30,540 + 320]  (390)] x 280]  (360) xm&E [+[ 7. 040)] +[  Goxmzm)|
i 3 B R 41,580 (99, 460)[ 37,580 + 390]  (870)] xpnE= 360  (830)| xmE=® [+[ 7 040] +| 70X MEE|
120X 1. 2&mR 99, 460| (169, 920)| 95, 460 + 870] (1,670)| x mEx 830] (1,530)| x mEx
=T D I3 169, 920 165, 920 +[ 1,570 xmgx | 1,530 X g
1214 AmUER 33,170 (40,210)| 29,480 + 310]  (380)] x gk 270 (340)| xm&E |+[ 7 040)] +[  GoxmzE)|
i 3 B R 40,210]  (98,090) [ 36,520 + 380] (860)| xpnE= 340  (820)| xmE® [+ 7 040] +| 70X MEE|
130A 1. 2&mR 98,000 (168,550)| 94,400 + 860 (1,560)| x mEx 820] (1,520)| x mEx
=T g, I3 168, 550 164, 860 +[ 1,560 xmgx | 1,520 X g
1314 AmUER 32,030] (39,070)] 28 600 + 300]  (370)] x mEE 260 (330)| xm&E [+[ 7 040)] +[  Goxmzmx)|
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150 A 1. 2@R 95,940| (166, 400)| 92,730 + 840] (1,540)| x mE=x 810] (1,510)| x mE=x
T D w| | 166,400 163, 190 +[ 1540 XMEE | 1,510 X EE
151 A 4w ER 31,030] (38,070)[ 28 030 + 290]  (360)] x mngE 260]  (330)] xmEE |+[ (7.040)] +[  (oxmzEH)]|
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160A 1. 2@R 95,950| (166, 410)| 92,950 + 840] (1,540)| x mE=x 810] (1,510)| x mE=x
T D w| | 166,410 163, 410 +[ 1540 XMEE | 1,510 X EE
161 A 4w ER 30,210]  (37,250)| 27,390 + 280]  (360)[ x mngiE 250]  (320)] xmEgE |+[ (7,040)] +[  (oxmzEH)]|
i 3 B R 37,250] (95 130) | 34,430 + 350]  (830)] xmmE= 320]  (800)| xmE=® [+ 7 040] +| 70X x|
1704 1. 2@®R 95,130| (165,590) 92 310 + 830] (1,530)| x mEx 800] (1,500)| x mEx
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4w ER 29,470] (36,610)] 26, 800 + 270]  (340) [ x Mgk 240 310)] xmgE |+[ 7,040)] +[  oxmzEH)]|
1710 3 B R 36,510] (94,390) [ 33 840 + 340]  (820)] xmE= 310]  (800)| xmE=® [+ 7 040] +| 70X x|
Bl 1. 2&®R 94,390 (164,850)| 91,720 + 820] (1,520)| x mEx 800] (1,500)| x mEx
g, 7 164, 850 162, 180 + , 520 pOIEE 1,500 PR



" N 4 E R BREMNE KAKRBEME REMRBENE
s | RE N
X4 = 1=% ] %4 X5 T
MBS ML | MEHEEME | H
Gx1) hng I
® @ ® @ ©) @
amotr|+[ 2810 +[ 20xmEx|
25 54, 720
SH 2890 | aroxmE
104 g [1. 2&R 52 890
e | By " ’
A e |AEUER +[ 2810 [ 20xmzEE] 31, 010
S 3 B R 2.180) | | pg0x s
204 s [1. 2&R 99 180
e | By " '
N e |AEUER +[2810] +[ 20xmEE| 23,110
5 S & R 212800 [ q50x s
30A o [1. 2%R 21 280
e | ¥ 7 i 7 '
amotrr|+[ 2810 + 20 X INEE . )
A | og [AEELEE T |+l WEE | g pamosmes | |[rogsosmE~ 19,180
e S & R FRFELH FRFE LS SO 0xmgk
WA e 1L 2R 17330
T | °7 g ] ~ 210K ~ 210A '
> 2, 440 X MR
HA | g [4EMER|+[2810] +[ 20xmEE] 244, 700 , 16,790
mo |77 [ & R 149608 1| goxmgga
50.A 1. 2®R 211 A~ 279X 1A~ 2794
| 3= 14, 960
T BN " 261, 900 2,610 MER
N _ |amuer|+[ 2810 +[ 20xmaEE 15,210
o |5 & & 280~ 349K 280A~ 3490 13.380] \ | g0 e
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MA | 0e [4B2ER[+[ 2810 +[ 20xmzE]
»s | 78 & ® 840N~ 909N B40A~ 909N
120 A S |1 2mRe 571, 600 5, 710X M=
e | By "
1218 | gm [4EULR +[ 2810] [ 20xmEs] 910A~ 979A 910 A~ 979A
»s |78 & & 606, 000 6, 060 X A& %
130N e 1. 2&%R
R D [ 980 A~1, 049A 980 A~1, 049X
1BIA | 9 [ABHER +[ 2810] [ 20xmEs] 640, 400 6, 400 X PN XK
) 3 ® R
S I EINY Y 1,050 A~ 1, 050 A~
R I D 3 674, 900 6, 740 X I
1A | oe [4EER[+[ 2810 +[ 20xmEE| N _
ns |7 s B ®
150 A S l1. 2®R
T | By "
1518 | og [4EHER[+[ 2810 +[ 20xmEE|
ns |7 s B ®
160 A S l1. 2®R
T | By "
1618 | og [4EHER[+[ 2810 +[ 20xmEE|
ns |7 s B ®
170N S l1. 2®R
T | By "
s 4w eR|+[ 2810] +[ 20xmEE]
25
1714 3 & R
HE 2%

]
el
b




F— LRBMEME AR R N )
. X158 2B ORAEAATE L T2BRATELD et SfEHmE SR E B MY
B8 raxs | BT | snxs BRI MG mEE %
= =4 NEREE EErT WEEES BAmR WEES
31 B | | B | B B | g | | mmE
@ @ © @ @ ®
22 [ABULR aHoih | 31, 600] 35, 200] 22, 100] 22, 100
3 B R ~ 15A b #h | 17,400| 19, 400| 12, 200( 12, 200
290 X MNER X INELA 17,100 18,800 11,900 11, 900
104 g [1. 2E| | 29020 A ALK S IEAK c i | 15,200( 16, 900| 10,600 10, 600
T (- 3 d#h | 13,600] 15,100] 9,500 9,500
A 22 [4BUER atois | 15, 800] 17, 600| 11,000] 11, 000
" 3 & R 16A~ 25A bt | 8 700] 9,700 6 100 6, 100
170 X B x AN A 8,500 | 9,400 [ 5 900 | 5, 900
204 e |1. 2mRE| |17 410 mEAMK S X IR A cii | 7,600( 8 400 5 300 5 300
Gl I 7 3 dish | 6,800 7.500] 4, 700] 4, 700
N e |AEUER a i | 10,900] 12, 200 7.600] 7,600
S 3 &% R 26 A~ 35N bk | 6,000 6 700 4 2000 4 200 |.
120 X fNE 2 X AR A 5,900 | 6,500 [ 4,100 | 4,100 oy
30A = |1 2&mmE| |12 440x mE A% S X IR A ot | 5200| 5800 3600 3600 |BESEDES
< |32 | *ROFAEE
7, 3 diesh | 4,700] 5200 3 300 3 300
N e |AEUER i | 9, 800] 10,900 6,800 6,800 ~ 15A
" 3 &% R 36A~ 45N bt | 5 400 6 000[ 3 700 3, 700 27,330
90 x MNELK X AL 5,200 | 5,700 | 3,600 | 3,600
40A g [1. 28K | O 670xmEAM P A A ciisk | 4,700( 5 200 3,300 3 300
Gl I B 3 dibsh | 4,200 4,600] 2 900 2 900 16A~ 25A
N e |AEUER atbih | 8 800 9 800 6 100 6 100 16,800
" 3 & R 46 A~ 60N bk | 4,800 5 400 3 400| 3,400
70X INE K X A A 4,700 | 5,200 | 3,300 | 3,300
50A g |1 28K | 7.250xmEAH P A A ot | 4,200 4,700 2 900 2 900 26A~ 3BA
sl I 7 3 dibsh | 3,800 42000 2 600 2 600 12, 280
N e |AEUER atih | 7,200] 8 100 5 100 5, 100
" 3 & & 61 A~ T5A ‘ b | 4,000 4 400 2800 2 800 36 A~ 45N
50 x AN X AIERA 3,900 | 4,300 [ 2,700 | 2, 700
60A a2 |1 2@R| | 5 800xmEAHK A5 A B ot | 3,500 3,800 2 400 2 400 9,770
Rl I 7 3 dish | 31000 3,400 2100 2100
610 e |AEUER atih | 6,300 7,100 4 400] 4, 400 46 A~ 6OA
" 3 & & 76 A~ 90N ‘ b | 3,500 3,900 2 400| 2 400 7,500
40 x INE K X JNERA 3,300 | 3,700 | 2,300 | 2 300
70K ae 1. 2ER 4, 830 X INER A% 3R MACA cHbit | 3,000] 3,400] 2 100| 2 100
Rl I 7 3 dist | 27000 30000 1,900 1,900 61 A~ 75N
I e |4EUER atih | 7,100 7,900 4 900] 4 900 6,130
" 3 & & 91 A~ 1054 ‘ b | 3,900 4 300[ 2 700 2 700
40 X JNE S X AR A 3,800 | 4,200 [ 2,700 | 2, 700
80A e |12 2EE| | 4 M0OXMEAK 3R MACA ot | 3,400 3,800 2 300 2 300 76 A~ 90N
Rl I 7 3 dist | 3,0000 3400 2100/ 2100 5, 220
1A e |AEUER atih | 6,300 7,100 4 400] 4, 400
" 3 & & 106 A~ 120A ‘ b | 3,500 3,900 2 400| 2 400 91 A~ 105A
30X ANE K X fIERA 3,400 | 3,700 | 2, 400 | 2, 400
90A se |1 2@E| | 3620xmEAH A5 B oyt | 3,000 3 400 2100 2100 4,660
Zoit: R S ED 3 dd| 2700 3000 1,900 1.900f
L2222 PN v |4EMLR atis | 55000 6 200 3 900| 3,900 106 A~ 120X
" 3 & & 121 A~ 135 A ‘ b | 3,000 3 400 2100 2 100 4,250
30 X JNE K X fIERA 3,000 | 3,400 [ 2,100 | 2 100
1004 oo |1, 2@R| | 3 220xMEAK AR OMEAK cii | 2 600( 2900 1,800/ 1,800
Rl I 3 dish | 24000 2600 1,600/ 1.600[ [ 121 A~ 1354
01A | 02 [4BUER atih | 6,100 6 800 4 200 4 200 3,920
" 3 & & 136 A~ 150A . bt | 3,300 3,700 2 300 2 300
20X ANEEE X AR A 3,300 | 3,700 | 2,300 | 2 300
NOA oo 1. 2mR| | 2 900xmEAK AR OME AR ci | 2 900| 3,200[ 20000 2 000] | 136A~ 150A
Rl I 3 dish | 26000 2900 1,800 1,800 3,660
A | 02 [4BUER atih | 5500 6 200 3 900 3 900
" 3 & & 151 A~ 180A . b | 3,000 3,400 2100 2100 [ 151 A~ 180A
20 X ANEEE X AR A 3,000 | 3,400 [ 2,100 | 2 100
1A [T 2| | 2 410xmE AR D38 < IR A ot | 2600 2 900 1,800 1,800 3,160
Rl I 3 dish | 2400 2600 1,600 1,600
1218 | 02 [4BULER atih | 5 100] 5 700 3500 3500 [ 181 A~ 210A
" 3 & & 181 A~ 210A . bt | 2 800] 3,100 1,900 1,900 2,810
20X ANEEE X AR A 2,800 | 3,100 | 2,000 | 2 000
oA oo 2mE| | 2 070xmEAK A5 B A ot | 2400 2 700 1,700 1,700
Rl I 3 dish | 22000 2400 15000 1,500 [ 211 A~ 2404
1314 | 02 [4BULR atih | 5500 6 200 3 900 3 900 2,540
" 3 & & 211 A~ 2404 . b | 3,000 3 400 2100 2 100
10X B X MERA 3,000 | 3,300 [ 2,100 | 2 100
A oo 2&E| | 1 810xmEAK AE A B ot | 2600] 2900 1,800 1,800 [ 241 A~ 2704
S e 3 dish | 24000 2600 1,600 1,600 2,440
1A | o5 |ABAUER atih | 5 400 6, 000 3 700 3,700
" 3 & & 241 A~ 2704 " . bk | 2 900 3,300[ 2000 2000 [ 271 A~ 300A
10X ANEE X MERA 2,800 | 3,100 | 2,000 | 2 000
1805 | [ 2me| | 1 610xmEAK I fEe A ot | 25000 2800 1,800 1,800 2, 360
S e 3 dish | 23000 25000 1,600 1,600
1514 | o |ABAULER i | 4,800 5 400 3, 400 3,400 [ 301 A~
" 3 & & 271 A~ 300.A " . b | 2 600 2 900 1,800 1,800 2,150
10X ANEE X MERA 2,600 | 2,900 [ 1,800 | 1,800
160A oo |1, 28K 1, 450 X MAR A 2K IO 28 > A AR cii | 2 300] 2500 1,600 1,600
S e 3 dish | 20000 23000 1,400 1,400
1614 | oo [ABMER atih | 5 400 6,000 3 700] 3 700 |[x3840mm-
mi 3 B R 301 A~ - . b | 2,900 3,300( 2 000] 2 000 |WNE
10X ANEE X MERA 2,800 | 3,100 | 2,000 | 2 000
170A gz | 1. 2R 1,310 X nEE A% IO 28 > A AR cHbi | 2500| 2 800| 1,800 1,800
S e 3 dish | 23000 25000 1,600 1,600
om [ABUER atih | 4800 5 400 3, 400] 3,400
1714 3 & R 2700 | 2900 | 1,900 | 1,900 b | 2 600 2 900 1,800 1,800
AE o[ 2@R ol | 2300 2500 1,600 1,600
S ED 3 dish | 20000 2300 1. 400 1,400




+TRACEFT 354

=g - IE2H =BT
SREC LHORMEAL . Z3ELLTRA | £TOLHRE
Uil B T Al RO Em | A ZRLROEM A SOALLIE TeEa
2m LEET ) ?
- . PRI N s
o | zaxs | 2T e ra i
= = s I + [(0+0+®+0+
il (0+0+@+0+ | O+0+E+O+ | (@
> ® ® (®+2+©®+0+ o) @> 4/100 x 5/100
X
o TEILR 4,800 AV w x 1/100 X 3/100
il E W) +[ 21, 390 ? TO+ O+ @+e+
108 1. 2mR +D+®+@+ |(@+D+®+@+ é%+®+® @) -
T | 95 g 2 5 ) 3/100 X 4/100 o
n 4E%LLER 4,800 0 100X B x 1/100 x
1 N 25 I3 +110,6 +®+0+
mib ? fﬁﬁ +@+0+ |(O+D+®+0+ (@+@+®+®+ é%+®
= Al {
T | 3% [ 7 oo @) 2100 o X 4/100 x 6/100
AU LR 4, 800| 0 70X fnEER X 2/100 x
APN N 25 3 +| 7,13 +®+@+
mib ? fﬁﬁ +@+0+ |(BO+D+@®+0+ (@+@+®+®+ é%+®
T | 3% g [ oo @) 2100 o X 4/100 x 5/100
AU LR 4, 800| 0 50 X fn# X 2/100 x
KIPN N 25 3 +| 5, 35 +®+@+
mib ? fﬁﬁ +@+0+ |(O+D+@®+0+ (@+@+®+®+ é%+®
T | 3% [ 7 oo @) 2100 © X 6/100 x 6/100
AU LR 4, 800| 0 40X mnEER X 2/100 x
[APN N 25 I3 +| 4, 28 +®+@+
50 : fﬁ’a P+E+O+ | B+rO+E+O+ | (O+0+E+O+ | (0+0
_ . 2®R + 0
T | 3% g 7 o ) X 3/100 X 5/100 x 6/10
4B ER 4, 800| 0 30X IR X 2/100
SN | 2m = +| 356 Teror
6on : fﬁz’ O+e+O+ | B+rO+E+O+ | (O+O+E+O+ | (0+0
= Al i v + O
T | 3% [ [ o ) X 3/100 X 5/100 x 6/10
" 4EULR 4 soo| . 20X mEE x 2/100
BN | 25 [ +| 30 +®+0+
00 : fﬁz’ P+E+O+ | B+rO+E+O+ | (O+O+E+O+ | (0+0
= Al i v + O
T | 3% g [ o ) X 3/100 X 5/100 x 6/10
" 4EULR 4 soo| - 20 EE x 2/100
nA |2 [ +| 2.6 +®+0+
s : fﬁz’ O+E+O+ | B+rO+E+O+ | (O+O+E+O+ | (0+0
= Al i v + O
ESl Il Py [ o ) X 3/100 X 5/100 x 6/10
" 4EULR 4 soo| . 20 EE x 2/100
BIA |28 [ +| 2.3 +®+0+
o0 : fﬁz’ P+E+O+ | B+rO+E+O+ | (O+O+E+O+ | (0+0
= Al i v + O
T | 3% g [ o ) x 3/100 X 5/100 x /10
ot 4ELLR 4 soo| I x 2/100
L2222 PN S +| 2140 20> (BO+D+®+@+
0o 1. 2&R OO+ |(O+D+@+O+ | (O+D+O+O+ | (@
N oot o) w100 X 5/100 x /100
N 4EULER 4, soo| . 10 sk X 2/100 x
10A | 28 — +| 1, 04 +@®+O+
o2 f fﬁ»_ﬁu ®+0+ |(O+D+®+O+ |(O+D+@®+O+ é@)ﬁ@
e | B oot o) w100 X 5/100 x /100
4®ULER 4, soo| 0x B X 2/100 x
e R e +| 1,780 ! T DIeIOT
m@? 1. 2@®R +@®+0@+ |(®+D+B®+O@+ (@+®+@+®+ @
N oo o) a0 X 5/100 x /100
N 4EULER 4, soo| . 10 sk X 2/100 x
1218 | 22 — +| 1,64 +@®+O+
T f fﬁ»_ﬁu ®+0+ |(O+D+®+0+ |(O+D+@®+O+ é@)ﬁ@
L e oot D) w100 x 5/100 x 7/100
N 4®ULER 4, soo| . 10 sk X 2/100 x
1BIA | 28 P +| 1,83 Teror
14(?1b ? izf”’f’ D+®+@+ |(O+D+®+O@+ f®<‘?+®++®+ f®<?+®
NN 1 100
FT 8% #, R E@C? @) X 3/100 X 5/100 7/
R 4Ll ER 4,800| 10 X fnEsx x 2/100
T4A | og = 5 +| 1,420 +®+O+
5 $ B +®+@+ | (O+D+O®+O+ @*@
WA | oo |1 2mR O+D+®+O+ |(©®+D o) o X 7/100
e |l g o) ®) X 3/100 x 5/100
IBULR 4, 800| X ANEE X 2/100
R e ra +| 1,340 10 @11 @Ot
»o ] *O+0+ | (©+D+0+0+ |©@
160A | .o |1, 2mR O+D+®+O+ |(©®+D o) o X 7/100
e |l g o) ®) X 3/100 x 5/100
N 4 ER 4,800| 10X pnE = X 2/100
161A | 25 = 5 +| 1,260 +®+O+
5 T OO |(@+D+E+O+ |(O+0
A oo |1 28R O+D+®+O+ |(©®+D o) o X 7/100
=T |97 [y [ ) /100 ()) X 3/100 X 8/100
ELL LR 4,soo| X 2
25 gﬁﬁ = +| 1100 10x s
7A -t
Bt . 1\2ﬁ;
B [




IRHAEOGE s
09 | o | B2 | spry | [EEsvFacx| |snamene| |EREELES A EESHIS
x5 | R sy [ TEEZ EOmY A ES ETEB5E PELhLBA BBET 28
BLTLEVSE
©) @ ©) @ @ @ @ ®
e |[ABAER
"Iz & w| | as2 | 2,270 | (25,520
10A gz | 1. 28R +130 x B %) +420 x N R) +250 X INE )
T (- " X A X A¥
1A 28 4L ER
N 3 m RB|_| (6 640 | @1,130 | (2760
204 gz | 1. 2ER +60X NEE) +210 X INEX) +120 X INE )
Gl I 7 " X AH X A
21N 28 ALl ER
N 3 m RB|_| 4430 | (14,090 _ | (8,500
30A gm | 1. 2ER +A0X NEE) +140 X i) +80 X MNEK)
sl I B " X AH X A
IDN 28 ALl EIR
N 3 m RB|_| G320 _ | (10,560 _| (6.380
40N gz | 1. 2ER +30X EE) +100 X &%) +60 X MNEK)
Gl I B " X A% X A
ADN 28 ALl EIR
Ay 3 m RB|_| (2650 | (8,450 _| ¢, 100
50A gm | 1. 2ER +20 X EE) +80 X M K) +50 X M K)
sl I 7 " X AH X A
51 A 28 ALl EIR
N 3 m RB|_| @210 | (7,040 | 4,250
60A g |1 28R +20 x N K) +70x MNEK) +40 x NEE)
Rl I 7 = X AH X A
61A 28 4wl ER
Ay 3 m RB|_| (.89 | (6,030 _ | (3.640
T0A g |1 28R +10x &) +60 X MNEK) +30 x NEE)
Rl I 7 = X AH X A
ViDN 28 4wl ER
N 3 m RB|_| (. 660 | (6,280 | @190
80A g |1 28R +10x &) +50 X fNE ) +30 x NEE)
Rl I 7 = X AH X A
81 A 28 4wl ER
N 3 m RB|_| Q.40 | (4,690 | 2830
90A o 1. 2ER +10X %) +40x ME &) +20 x M) -
con| 7| o 5 s | @@ @FERC))
ttigh 4t _ .
91A g 2 E X BIZE S B PEER
NS IR g| | (.33 | 4220 | (2850 Bli=zH o8
100A oo |1, 2mR +10% MER) +40 x INEE) +20 X MEEE)
Rl I = X AH X A
101 A P 4Ll ER
Ay 3 m RB|_| (, 200 | (3,840 | (2,320
NoA | o |1, 2mR +10% MER) +30 x INEE) +20 X MEE)
Rl I = X AH X A
) 3 & R|_| 100 | 352 @120
1208 | .o |1 2mR +10% MER) +30 x NEE) +20 X M)
Rl I = X AH X A
121 A P 4Ll ER
Ay 3 m Rl _| (5020 | (3,250 | (1,960
BOA o1 2mR +10% MER) +30 x INEE) +20 X MEEE)
Rl I = X AH X A
131 A P 4Ll ER
) 3 m B | 9s0 | @010 | 820
MOA oo |1 2mR +10% MER) +30 x NEE) +10x M)
S e " X AH X AH
sy 3 & RB| | @880 | @810 | @700
1B0A oo |1, 28K +9x MEE) +20 X MNEK) +10 % INEE)
S e " X AH X AH
sy 3 & RB| | @830 | @640 | (590
160A oo |1, 28K +8x MEE) +20 X MNEK) +10 % INEE)
S e " X AH X AH
sy 3 & RB| | 780 | 2480 | @500
WOA oo |1, 28R +8x MEE) +20 X M K) +10 % INEE)
S e " X AH X AH
e |ABUER
mAa |78 &\l | a | @30 | a.a10
AE o[ 2@R +7 X EE) +20 X M K) +10 % INEE)
S ED G XAH X A




&S 2

EwEXEmE 2

MLUTORAISH LT, Z£AMBOFIATFE L OBHI<INE
A BRIRBREFLUXAGRRER AR

HAER MiEHEEME 1
Al ( 26,010 + 260 X fnE xR )
@ ~RAMBEOFAFELH
EAH B EENE 1
Bl ( 17, 340 + 170 X InE =R )
TRAMBEOFAFELH

B ThUSNOMERZAMR

l«igd)tﬂﬁ’&éﬁ LEBERBYAOFATE LB TR
L=

. 2) X1 ZAYBOFATFELOBMIZNE
nBFEFMHT Y O pgormsmEl —O 50,300 x AKA x 1/2 X2 AMARUGAMBIZOWTH, BIZEHS
CMBRESEMETI-Q 6,290 x AH%B x 1/2
11,320 X MBIRESRAR < 1/2 X1 KRAYWAOHMFE L ORMICME
. (x2) * ! 1 =
mBHEZEMED? @ %2 MELEEHRAMIZOLTHE. Bz
£ AMBORATE LH
T 1,904 # i 13205 o R4 2 LT & B OB ME
T D 4 ERABAORAMTYICET 258 (B
MEEEME @2 % 1,690|Z O fh #h 32 120 244572 E2008) H1ELE1BRVUE
28-181F B
3 @ 1670 T oM MDD 4RI O
A 155,310+ 3 B BORAFE £ 5
) KUTORAIIECT, 3AMADFAFE L OBMICNE
KRB RETMmINE E2 @) A:RBRRE QI L A b TREBERE T ZRET & B
B: Zh LIS D iR
B 30,260+ 3 AMBOFIAFE b K
BREENE @‘ 6, 270 |x3ﬁ@a®ﬂ%%£ﬁ®$ﬁtm§
‘@Wﬁf§M§ﬁ® @ 81,230+ 3 AMBOFAFE K hsamawmm;aawﬁmumﬁ
. .. 476,000
400STAILLE BOOREIRAE L o e
- . . w 793,000 MMEAEE. BRESOFHLERBELE LIRS
BERESEREENA @) CORMALI2EEAE . S s pnonmzets ¥ ANRORATLE L ORMEIME
. 1,111,000
12005 RIALE + 3 ANADHATE LK
@*ﬁﬁggﬁ{mﬁ%mﬁ 80,000 (FREEER) ~ 3 AMBDFAF L& 6} %3 AMADHET E b0 REME
., BEI~TERETE | 20,190+ 3 BHAORMATE %
NpRERnEEY  ® - — X3 AMBORMTE b OEMMIZME
B I~IERETE | 168,570+ 3 AMBOHATFE 6K
EXEE WBHEEME I
Al € 79950  + 790 x SnEEE )
~EAMBOMAFELH
XUTORSIZH LT, HAMEOFBTE L OBMEIME
EALE maEtkEEmnE 1 ABEIRERBLZEAZNEFICL YERE L T 2K
REEEMY @ B EAHEMECMOMEDREIZ L} > TRD >N
gl ¢ B0,000 + 500 X M &= ) BENSRLERE LTV DR
C:AXEBERE, $ETEBEZL TLHMR
~EAMBOMAFELH
o EAREE
10,000 & A#BOFATE LH
m=zameEng = ® 75,000+ 3 AFBHOFAF EHH X3AMBOFATE b DEEIZME

(ZF) FEOWAOHBICE T2 HEEHICECTABEEHE

GCx2) 188%C

EHDFARBERELBVGRORAREZTH5A. TNThOBRIZ 2] 2RLTHERE




EEEERENICHEBTIEEIRIINEHIREEX FECLLE (REB®E)

FAT LB H .
X PN KIES EPN RS RN X EIEN 9;{ 10;4 H;t WZ;AB 13;2 14;‘2 Wﬁ;\t i N
- B N L - s > * - e S e . N Y 1
g?}z Ay | BN | anxs 104 b ne K s won o son oA 1004 1104 1204 1304 1404 1504 1604 1704 BUE
¥ % % % T Fid T Fid T fid T FT T fid T T T
- LR
104 ® L 61/100 48/100 42/100 40/100 37/100 35/100 33/100 32/100 20/100 20/100 28/100 27/100 27/100 27/100 26/100 26/100 26/100
)
T | 32 Zﬁ‘:
- LR
e ®_R 79/100 69/100 66/100 61/100 57/100 54/100 52/100 48/100 47/100 46/100 45/100 44/100 44/100 43/100 43/100 42/100
L 2R
I "
4BULR
e / / / % / / / 55/100 54/100 54/100
XN Il 87/100 84/100 77/100 72/100 69/100 66/100 61/100 59/100 58/100 57/100 56/100 55/100
A s [ 2rR
- | 33
T )
4mULR
NN / / / / / / / 63/100 62/100 62/100
pe |3 & ® 96/100 88/100 83/100 79/100 76/100 70/100 68/100 67/100 66/100 64/100 64/100
LA IV EIPY T
- | 33
T )
4mULR
e / / / / / / / /100 65/100 64/100
pe |3 & ® 92/100 86/100 82/100 79/100 73/100 71/100 70/100 68/100 67/100 66/100 66/10
S0A s [ 2BE
- | 33
T )
4mULR
N / / / / / / / / 71/100 70/100
pe |3 & ® 94/100 89/100 86/100 79/100 77/100 76/100 74/100 73/100 72/100 71/100
A g [ 2rR
- | 33
T )
4mULR
oy 5 / / / / / / / /100 74/100
s | & & 95/100 91/100 84/100 82/100 81/100 79/100 77/100 77/100 76/100 7
A s [ 2BR
- | 33
T )
4mULR
e / / / / / / /100 80/100 79/100 78/100
we |73 m w 96/100 88/100 87/100 85/100 83/100 81/100 81/10
80A g [ 2rR
- | 33
e )
4mULR
e / / / / / /100 83/100 82/100 82/100
N I ) 92/100 90/100 88/100 87/100 85/100 84/10
WA s [ 2rE
- | 3%
20| *T EN "
Hde AR
N / / /100 90/100 89/100 89/100
we | [ m ow 98/100 96/100 94/100 92/100 91/10
[ IV EINPY-T
S I
AEUER
o | ow [FR2 3 98/100 96/100 94/100 93/100 92/100 91/100 90/100
5 3 & ®
nor g i 2me
S I
LR
AP R 98/100 96/100 95/100 94/100 93/100 92/100
5 3 & ®
1208 o1 2@
il Il e )
Y
S e 98/100 97/100 96/100 95/100 94/100
5 3 & ®
S I ENPY-T
S I
S e 99/100 98/100 97/100 96/100
5 3 & ®
[ IV EINPY-T
S B
s R 99/100 98/100 97/100
w5 3 & ®
o I EINPY-T
S I
| e FREEE 99/100 98/100
5 3 & ®
100A e i 2me
i B £ %
161A | o [ARALR 99/100
5 3 & ®
LS IS ENPY T
i B £ %
P T
5
171A 3 & ®
Br i 2me
3%
E) %




FAFE 8

B

wa | LS 5K P 1P PN EIPN 0K X X PN TITX PN ToTX
S ETES 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 704 80X 90 1004 10K 120X 1304 190X 150X 1604 170X e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
5 3 k& R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
16100]  ET [
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R / / y / /
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R , , ’ , ,
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R / y / /
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B , | ’
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2mR
e R




FAFE 8

B

wa | LS 5K P 1P PN EIPN 0K X X PN TITX PN ToTX
S ETES 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 704 80X 90 1004 10K 120X 1304 190X 150X 1604 170X e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
5 3 k& R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
1s00]  ET [
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R / / y / /
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R , , ’ , ,
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R / y / /
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B , | ’
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2mR
e R




FAFE 8

B

wa | LS 5K P 1P PN EIPN 0K X X PN TITX PN ToTX
S ETES 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 704 80X 90 1004 10K 120X 1304 190X 150X 1604 170X e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
5 3 k& R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
1200]  ET [
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R / / y / /
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R , , ’ , ,
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R / y / /
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B , | ’
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2mR
e R




FAFE 8

B

wa | LS 5K P 1P PN EIPN 0K X X PN TITX PN ToTX
S ETES 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 704 80X 90 1004 10K 120X 1304 190X 150X 1604 170X e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
5 3 k& R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
10| ET [
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R / / y / /
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R , , ’ , ,
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R / y / /
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B , | ’
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2mR
e R




FAFE 8

B

we | X FIPN EIPN IPN X 5PN VPN PN EIPN TR X TR X TITX PN ToTX
a |EERS 104 I s I S s i B i s S B w5 B 2 B b 1714
i 200 304 200 50X 60 70X 80X 0 100X 10A 120K 1304 140X 150X 1604 170K e
Fad F2d £ Fc i Fc £ Fc xc Ec x f29 x T xT T
TR
o 3 fﬁ:‘: 61/100 | 48/100 | 427100 | 40/100 | 37/100 | 5100 | 33100 | 2100 | 30/100 | 29/100 | 28/100 | 28/100 | 27/100 | 277100 | 27/100 | 26/100 | 26/100
e [l "
T TN
N, -
ol ? fﬁ:‘; 79/100 | 69100 | 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48/100 | 47/100 | 46100 | 46/100 | 457100 | a4/i00 | 44100 | 43/100 | 43/100
e D
. TN
N, -
w2 ? fﬁ:‘; 87/100 | 84100 | 77/100 | 72100 | 69/100 | /100 | 61/100 | 0/100 | 59/100 | 68100 | 57/100 | 56/100 | 55/100 | 55100 | 54/100
e DR
. 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
x 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
S TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
oI 4L
022 ? fﬁf 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
e [
B 4L
al® ? fﬁf 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
e [
R 4L
Wl ? fﬁf 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
00| ET [
AN AmUMER
e ? fﬁf 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
e [
ox TN
e ? fﬁf 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
#e [
N TN
w2 ? fﬁf 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
o ? fﬁf 98/100 | 97/100 | 96/100 | 95100 | 94/100
e [
I TN
Wz ? fﬁf 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
o ? fﬁf 90/100 | 98/100 | 97/100
e [
I TN
o ? fﬁf 99/100 | 98/100
*e [
Ton 4L
n s m R /
1704 T omR /1
*e [
4L
1714 s m R
Bt 1. 2R
e R




FAFE 8

B

wa | LS 5K P 1P PN EIPN 0K X X PN TITX PN ToTX
S ETES 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 704 80X 90 1004 10K 120X 1304 190X 150X 1604 170X e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
5 3 k& R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
si00|  ET [
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R / / y / /
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R , , ’ , ,
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R / y / /
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B , | ’
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2mR
e R




FAFE 8

B

we | PN PN P 1P PN EIPN TR X TR X TITX PN ToTX
a |EERS 104 ni i ni I i i ) [ w5 ) ) [ ) 1A
Fe N 60X 70K B0 90 1004 10A 120K 1304 140X 150X 1604 170K e
Fc i Fc £ Fc xc Ec x f29 x T xT FT
TR
o 3 fﬁ:‘: /100 | 37100 | 3100 | 33100 | a2/100 | 300100 | 29100 | 28100 | 28100 | 27100 | 277100 | 27100 | 26/100 | 26/100
e [l "
R TN
ol ? fﬁ:‘: 66/100 | 61/100 | 57/100 | 54100 | S2/100 | 48100 | 47/100 | 46100 | 46/100 | 45100 | a4/t00 | 44100 | 43/100 | 43/100
e D
I TN
w2 ? fﬁ:‘: 84/100 | 77100 | 72/100 | 69/100 | 66/100 | e1/100 | 60/100 | 59100 | S8/100 | 67100 | S6/100 | 85100 | S5/100 | 54/100
e DR
n 4L
ol ? fﬁf 96/100 | 88100 | 83100 | 79100 | 76/100 | 70/100 | 69/100 | 68100 | 66/100 | 65100 | 64/100 | 64100 | 63/100 | 62/100
e [
o 4L
ol ? fﬁf 92/100 | 86/100 | 82100 | 79/100 | 73100 | 72/100 | 70/100 | 69/100 | 68/100 | 67/100 | 66/100 | 66/100 | 65/100
e [
B TN
ol ? fﬁf o4/100 | 89100 | 8e/i00 | so/t00 | 78/100 | 77100 | 75/100 | 74100 | 73100 | 72100 | 717100 | 71/100
e [
B 4L
b 3 B R 95/100 | 91/100 | 85/100 | 83/100 | si/i00 | 8o/i0 | 78/100 | 777100 | 777100 | 76/100 | 75/100
704 T 2mR
e [
n 4L
b 3 B R 96/100 | 89100 | 87100 | 86100 | s4/i00 | 82100 | 82/100 | s1/100 | 80/100 | 79/100
B0A T 2mR
e [
an 4L
b 3 B R 93/100 | 91/100 | 89/100 | 8s/100 | 86/100 | 85100 | 84/100 | 83/100 | 82/100
A T 2mR
zom|  *° )
AN AmUMER
o 3 B R 98/100 | 96/100 | 94/100 | 92100 | 91/100 | so/100 | 89/100 | 89/100
1004 T 2mR
e [
ox TN
e S kR 98/100 | 96/100 | 94/100 | 93/100 | 92/100 | 91/100 | 90/100
10A T omR
#e [
N TN
hi R , , , , ,
% T 98/100 | 96/100 | 95/100 | 94100 | 93/100 | 92/100
e [
x TN
ni R / / y / /
i T 98/100 | 97/100 | 96/100 | 95/100 | 94/100
e [
I TN
hi R , , , ’
% T 99/100 | 98/100 | 97/100 | 96/100
#e [
A TN
hi B y / /
5 T 99/100 | 98/100 | 97/100
e [
I TN
ni R , ,
1ot T 99/100 | 98/100
*e E)
Ton 4B
hi ) )
1704 T omR /1
*e E)
4B
1714 )
Bt 1. 2R
e R




